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b=10;

c=100;

for a=1:100
d(a)=1449+0.6%a-0.055%a"2+0.0003*a"~3+(1.39-0.012*a) * (b—-35)+0.017*c;

end

plot(d)
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S=10;%0 0 (%o)
D=100;%00 (m)
t_min=1%0000 (O)
t_max=100;%0 000 (O)

c=zeros(t_max); %00 (m/s)
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for t=t_min:t_max
c(t)=1449+0.6%t-0.055*%t"2+0.0003*t"3+(1.39-0.012*t) *(S-35)+0.017*D;

end

»ooog
plot(c)
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for t=t_min:t_max
c(t)=1449+0.6%t-0.055%t"2+0.0003*t"3+(1.39-0.012*t)*(S-35)+0.017%D;

end
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t=t_min:t_max;
c=1449+0.6*t—-0.055%t . 2+0.0003*t . 3+(1.39-0.012*t) *(S-35)+0.017*D;
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t=t_min:t_max;
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A=B.x*C;
A=B./C;
A=B."2;

gooooroobboboobobobooooog
Oooo0oooooDD for0O0O0D0OOOO

S=10;%00 (%o)

t_min=1;%0000 (O)
t_max=100;%0000 (O)
d_min=1;%0000 (m)
d_max=100;%0000 (m)
c=zeros(t_max,d_max); %00 (m/s)
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for t=t_min:t_max
for d=d_min:d_max
c(t,d)=1449+0.6%t-0.055*t"2+0.0003*t"3+(1.39-0.012%t) *(S-35)+0.017%d;
end

end

»oood

mesh(c)
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o0J000000000D0OO0O0OO0O0DOO0ODOOOO0DOOObOOOOD
0000 meshgrid 0 OO

t_min=1;%0000 (O)

t_max=100;%0000 (O)

d_min=1;%0000 (m)

d_max=100;%0000 (m)

[t d]l=meshgrid(t_min:t_max, d_min:d_max);

gbooboooooobooobobotbdobobobobobooboobooboo
gbogbobooooobobuooboboobouooboboobobon
oobo0oOd for00000O0DOODOODO

S=10;%00 (%o)

t_min=1;%0000 (O)

t_max=100;%0000 (O)

d_min=1;%0000 (m)

d_max=100;%0000 (m)

[t d]l=meshgrid(t_min:t_max, d_min:d_max);%0000000000O
c=zeros (t_max,d_max); %00 (m/s)
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c=1449+0.6%t-0.055%t . 2+0.0003*t. "3+ (1.39-0.012*t) .*(S-35)+0.017*d;

»aOoooo
mesh(c)
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O 2:if0000000

A=o0ones (100,100);%100x100 000000 1000
B=zeros(100,100);»B 0000 OO
B=A;%BO AOOO
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[x yl=meshgrid(-50:0.1:50,-50:0.1:50);
»Hoooooooooo
r=sqrt(x.”2+y."2);
»o20000000000000

A=(r =< 20) .x(x+y)+(r > 20) .*(x-y);
mesh(A)
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for i=1:n000 \ for j=1:m0O
for j = 1:m \ for i = 1:n
A(i,j) =i*xj ; \ AGi,j) = ixj ;
end \ end
end \ end
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A=rand(100,100);%100x100 00000000000
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[x y]l=meshgrid(1:100,1:100);
A=rand (100,100);
B=A(A<=0.5);

x=x(A<=0.5);

y=y (A<=0.5) ;
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